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¶ß±Ó¬fl¡ ¬Û±Í¬Sê˜ ø˙é¬±¬ı¯∏«±ôL ¬Û¬ı˛œé¬±  
 ( B.D.P. Term End Examination )  

øÎ¬À¸•§¬ı˛, 2017 › Ê≈Ú, 2018 (December-2017 & June-2018) 

¸˝√√±˚˛fl¡ ¬Û±Í¬Sê˜ ( Subsidiary Course ) 
õ∂±Ìœø¬ı√…± ( Zoology ) 
õ∂Ô˜  ¬ÛS  ( First Paper )   

ZOOLOGY-I : SZO-I             
¸˜˚̨ – øÓ¬Ú√√ ‚KI◊±¬(Time : 3 hours)  
Û”Ì«̃ ±Ú – 100 (Full Marks : 100) 
˜±ÀÚ¬ı˛ &èQ – 70% (Weightage of Marks : 70%) 

¬¬Ûø¬ı˛ø˜Ó¬ › ˚Ô±˚Ô Î¬◊M√√À¬ı˛¬ı˛ Ê√Ú… ø¬ıÀ˙¯∏ ˜”˘… Œ√›˚˛± ˝√√À¬ıº 
’qX ¬ı±Ú±Ú, ’¬Ûø¬ı˛26√ißÓ¬± ¤¬ı— ’¬Ûø¬ı˛©®±¬ı˛ ˝√√ô¶±é¬À¬ı˛¬ı˛ Œé¬ÀS Ú•§¬ı˛ 

Œfl¡ÀÈ¬ ŒÚ›˚˛± ˝√√À¬ıº Î¬◊¬Û±ÀôL õ∂Àùü¬ı˛ ˜”˘…˜±Ú ¸”ø‰¬Ó¬ ’±ÀÂ√º 
Special credit will be given for precise and correct 

answer. Marks will be deducted for spelling 
mistakes, untidiness and illegible handwriting. 
The figures in the margin indicate full marks. 

1º Œ˚-Œfl¡±ÀÚ± ≈íøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 20 × 2 = 40 
 [fl¡]  fl¡ÚÊ≈√À·˙Ú øfl¡  ∑ ¬Û…±¬ı˛±À˜ø˙˚˛±À˜¬ı˛ fl¡ÚÊ≈√À·˙Ú 

¬ÛXøÓ¬øÈ¬ ø¬ı¬ı‘Ó¬ fl¡èÚº ’±¬ı˛À˙±˘±¬ı˛ õ∂Ò±Ú Œ¬ı˛‰¬Ú ’eøÈ¬ 
Î¬◊À~‡ fl¡èÚ ¤¬ı— ¤¬ı˛ ·Í¬Ú  ›  fl¡±˚«¬ÛXøÓ¬ ¬ı…±‡…± 
fl¡èÚº Î¬◊√± √̋√¬ı˛Ì¸˝√√ ŒÈ¬ø¬ı˛À·±È¬± › ’±ÀÈ¬ø¬ı˛À·±È¬± 
Î¬◊¬ÛÀ|Ìœ¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… øÚè¬ÛÌ fl¡èÚº  

     2 + 5 + [1 + 4 + 4] + 4  
 [‡¡] Œ|Ìœ fl¡…±˘Àfl¡ø¬ı˛˚˛±¬ı˛ Î¬◊À~‡À˚±·… ‰¬±¬ı˛øÈ¬ ∆¬ıø˙©Ü… 

ø˘‡≈Úº Î¬◊¬Û˚≈Mê√  ø‰¬S¸˝√√  ¶®±˝◊√√Ù¬±¬ı˛  ¸±Ò±¬ı˛Ì  ·Í¬Ú  
¬ıÌ«Ú±  fl¡èÚº Œfl“¡À‰¬±¬ı˛ ’Ú≈Õ√‚…« ¬ı˛Mê√¬ı±˝√√&ø˘ ¸•ÛÀfl«¡ 
ø˘‡≈Úº ’±¬ı˛À˙±˘±¬ı˛ ¬Û≈— Ê√ÚÚÓ¬LaøÈ¬¬ı˛ ¸ø‰¬S ¬ıÌ«Ú± ø√Úº 
Œ|Ìœ Hirudinea-¬ı˛ Î¬◊√±¬ı˛ √̋√Ì¸˝√√ øÓ¬ÚøÈ¬ õ∂Ò±Ú 
∆¬ıø˙©Ü… Î¬◊À~‡ fl¡èÚº 4 + 4 + 4 + [2 + 3] + 3 

 [·¡] ¬ı…±˘±ÀÚ±À¢≠±¸±¸-¤¬ı˛ ¬ı±¸¶ö±Ú øÚÀ«√̇  fl¡èÚ ¤¬ı— › ◊̋√√ 
õ∂±ÌœøÈ¬¬ı˛ ·˘ø¬ıÀ˘¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ¬ıÌ«Ú± fl¡èÚº ¬ı…±À„√√¬ı˛ 
√̋√+√ø¬ÛÀG¬ı˛ ’ôL·«Í¬Ú ø‰¬S¸˝√√ ¬ıÌ«Ú± fl¡èÚ ¤¬ı— ¤¬ı˛ 

øˆ¬Ó¬¬ı˛ ø√À˚̨ ¬ı˛Mê√ ¸=±˘Ú ¬ÛXøÓ¬ ¬ıÌ«Ú± fl¡èÚº  ≈√øÈ¬ 
fl¡À¬ı˛ ∆¬ıø˙©Ü… ¤¬ı— Î¬◊√± √̋√¬ı˛Ì¸˝√√ ¸¬ıœ̨¸‘¬Û Œ|Ìœ¬ı˛ Ê√œø¬ıÓ¬ 
¬ı·« ¬Û˚«ôL Œ|Ìœø¬ıÚ…±¸ fl¡èÚº[2 + 4] + [4 + 4] + 6  

 [‚¡] ¬ı…øÓ¬˝√√±¬ı˛Ê√œø¬ıÓ¬± ¤¬ı— ’ÀÚ…±Ú…Ê√œø¬ıÓ¬±¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡… 
øÚè¬ÛÌ fl¡èÚº ˜Ú≈¯∏… ˙¬ıœ̨À¬ı˛ õ≠±¸À˜±øÎ¬˚˛±˜ 
¬ˆ¬±˝◊√√̂ ¬±À'¬ı˛  Ê√œ¬ıÚ‰¬ÀSê¬ı˛ ø¬ıøˆ¬iß √̇ ±&ø˘ ø¬ı¬ı‘Ó¬ 
fl¡èÚº ˜±Ú≈À¯∏¬ı˛ Œ√À √̋√ fl¡œˆ¬±À¬ı ¤ ◊̋√√ ¬Û¬ı˛Ê√œ¬ıœøÈ¬ 
˜…±À˘ø¬ı˛˚˛± Œ¬ı˛±À·¬ı˛ ¬Û≈Ú–¸—Sê˜Ì ‚È¬±˚˛ ∑ ¸øSê˚̨ 
◊̋√√ø˜Î¬◊Ú±˝◊√√ÀÊ√̇ Ú ¬ı˘ÀÓ¬ fl¡œ Œ¬ı±ÀÁ¡Ú ∑ ¸øSê˚̨ 
◊̋√√ø˜Î¬◊Ú±˝◊√√ÀÊ√̇ ÀÚ ¬ı…¬ı˝√√+Ó¬ ø¬ıøˆ¬iß õ∂fl¡±¬ı˛ øÈ¬fl¡±&ø˘¬ı˛ 

õ∂fl¡±¬ı˛Àˆ¬√ ’±À˘±‰¬Ú± fl¡èÚº 4 + 6 + 3 + 3 + 4 

2º Œ˚-Œfl¡±ÀÚ± øÓ¬ÚøÈ¬ õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 12 × 3 = 36 

 [fl¡¡]  Î¬◊¬ÛÀ|Ìœ Archaeornithes ¤¬ı— Î¬◊¬ÛÀ|Ìœ 
Neornithes-¤¬ı˛ ˜ÀÒ… ¬Û±Ô«fl¡…&ø˘ Î¬◊√± √̋√¬ı˛Ì¸ √̋√ 
ø˘‡≈Úº ¬Û±˚˛¬ı˛±¬ı˛ ¤fl¡øÈ¬ õ∂fl‘¡Ó¬ ¬Û±˘Àfl¡¬ı˛ ·Í¬Ú ø‰¬S¸ √̋√ 
¬ıÌ«Ú± fl¡èÚº ’¬ı¶ö±Ú ’Ú≈˚±˚˛œ ¬Û±˚˛¬ı˛±¬ı˛ ¬Û±˘Àfl¡¬ı˛ 
õ∂fl¡±¬ı˛Àˆ¬√ Î¬◊À~‡ fl¡èÚº 4 + 6 + 2 

 [‡¡]  Î¬◊¬Û¬Û¬ı« Œ¸Ù¬±À˘±fl¡Î¬±«È¬±¬ı˛  ‰¬±¬ı˛øÈ¬  ¶§Ó¬La  ∆¬ıø˙©Ü… 
ø˘‡≈Úº ’…±ø•£¬’'±À¸¬ı˛ ‡±√…¢∂̋ √√Ì ¤¬ı— ¬Ûø¬ı˛¬Û±fl¡ 
¬ÛXøÓ¬ ’±À˘±‰¬Ú±  fl¡èÚº  ˜±ÀÂ√¬ı˛ ¬ÛÈ¬fl¡±¬ı˛ ¸±˝√√±À˚… 
ù´¸Ú ¬ÛXøÓ¬øÈ¬¬ı˛ ø¬ı¬ı¬ı˛Ì ø√Úº 4 + 5 + 3  

 [·¡]  ’…±øKI◊ÀÊ√ÀÚ¬ı˛ › ’…±øKI◊¬ıøÎ¬¬ı˛ ¸—:± ø˘‡≈Úº ¤fl¡øÈ¬ 
◊̋√√ø˜Î¬◊ÀÚ±À¢≠±ø¬ıÎ¬◊ø˘Ú ’Ì≈¬ı˛ ·Í¬ÀÚ¬ı˛ ¸ø‰¬S ¬ıÌ«Ú± ø√Úº 

˜Ú≈ ∏̄… ˙¬ıœ̨À¬ı˛ Î¬◊¬Ûø¶öÓ¬ ˝◊√√ø˜Î¬◊ÀÚ±À¢≠±ø¬ıÎ¬◊ø˘Ú ’Ì≈¬ı˛ 
õ∂fl¡±¬ı˛Àˆ¬√ fl¡èÚ ¤¬ı— ¤À√¬ı˛ ∆¬ıø˙©Ü…&ø˘ ’±À˘±‰¬Ú± 
fl¡èÚº 3 + 5 + [2 + 2] 



 3 QP Code: 18UT152SZO(I) QP Code: 18UT152SZO(I) 4  

B.Sc-11308-P  [¬ÛÀ¬ı˛¬ı˛ ¬Û‘á¬±˚˛ ^©Ü¬ı… B.Sc-11308-P  

 [‚¡]  ’…±Ààø¬ı˛˚˛±¸-¤¬ı˛ Ê√̆ ¸—¬ı˝√√Ú Ó¬ÀLa¬ı˛ ø¬ıøˆ¬iß            
’—˙&ø˘ ¬ıÌ«Ú± fl¡èÚº Œ¸øÈ¬¬ı˛ Ó¬±»¬Û˚« ø˘‡≈Úº 
¤fl¡±˝◊√√ÀÚ±Î¬±˜±«È¬± ¬ÛÀ¬ı«¬ı˛ ø¬ıøˆ¬iß ˘±ˆ¬±«&ø˘ ø‰¬ÀS¬ı˛ 
˜±Ò…À˜ ¬ıÌ«Ú± fl¡èÚº 5 + 3 + 4  

 [„√√¡]  Œ¬Ûø¬ı˛õ≠±ÀÚÈ¬±-¬ı˛  ¬∏C±øfl¡˚˛±¬ı˛  ˜±Ò…À˜  ù´¸Ú  ¬ÛXøÓ¬øÈ¬ 
¬ıÌ«Ú± fl¡èÚº flv¡±˝◊√√ÀÈ¬˘±˜ fl¡œ ∑ Œfl“¡À‰¬±¬ı˛ ¬Û≈è¯∏ › ¶aœ 
Ê√ÚÚÓ¬ÀLa¬ı˛ ø¬ıøˆ¬iß ’e › ¢∂øLö&ø˘¬ı˛ Î¬◊À~‡ fl¡èÚº 

   5 + 2 + 5 
 [‰¬√√¡]  ì¢∂±Î¬◊̀ ¬ ˝◊√√‰¬î Œ¬ı˛±·øÈ¬ fl¡œ ∑ Œ¬ı˛±· ¸‘ø©Üfl¡±¬ı˛œ õ∂±ÌœøÈ¬¬ı˛ 

¬ı±¸¶ö±Ú › ’e¸—¶ö±Ú ø¬ı¬ı‘Ó¬ fl¡èÚº ˜±Ú≈À ∏̄¬ı˛ Œ√À √̋√ 
fl¡œˆ¬±À¬ı øÙ¬˘±ø¬ı˛Ù¬˜« ˘±ˆ¬±«¬ı˛ ¬Ûø¬ı˛˚±Ú ‚ÀÈ¬ ∑ ¤ ◊̋√√ Œ¬ı˛±· 
øÚ˚˛LaÀÌ¬ı˛ øfl¡Â≈ ¬¬ÛXøÓ¬ Î¬◊À~‡ fl¡èÚº 2 + 5 + 3 + 2  

3º  Œ˚-Œfl¡±ÀÚ± ‰¬±¬ı˛√øÈ¬  õ∂Àùü¬ı˛ Î¬◊M√√¬ı˛ ø√Ú – 6 × 4 = 24 
 [fl¡] È¬ÀÚ«ø¬ı˛˚˛± ˘±ˆ¬±« √̇ ±¬ı˛ è¬Û±ôL¬ı˛ › ·Í¬Ú ¬ı…±‡…± fl¡èÚº 
   3  + 3  
 [‡] ¬ÛÓ¬Àe¬ı˛ ˜…±˘ø¬ÛøÊ√̊ ˛±Ú Ú±ø˘fl¡±¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ¬ıÌ«Ú± 

fl¡¬ı˛Úº 4 + 2 
 [·] ëø˘ˆ¬±¬ı˛ ¬ı˛È¬í Œ¬ı˛±·øÈ¬ fl¡œ  ∑ ¸±¬ı˛Àfl¡ø¬ı˛˚˛± ˘±ˆ¬±« √̇ ±øÈ¬ 

ø‰¬S ’ÇÚ fl¡À¬ı˛ ø¬ı¬ı‘Ó¬ fl¡èÚº  2 + 4 
 [‚] ’¬ÛÀ¸±Ú±˝◊√√ÀÊ√̇ Ú fl¡œ ∑ ’…±øKI◊¬ıøÎ¬ ’…±øˆ¬øÎ¬øÈ¬ ¬ı˘ÀÓ¬ 

fl¡œ Œ¬ı±ÀÁ¡Ú ∑   3 + 3 
 [„√√¡√√] øÎ¬¬ÛÀÚ±˝◊√√ ˜±ÀÂ√¬ı˛ √̋√+√ø¬ÛÀG¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ø¬ı¬ı‘Ó¬ fl¡èÚº  

 2 + 4    
 [‰¬¬] ¤fl¡øÈ¬ ’±√̇ « Œ¬ı˛±˜Löfl¡ ¬Û±fl¡¶ö˘œ¬ı˛ ·Í¬Ú ¬ıÌ«Ú± fl¡èÚº 

¸±Ò±¬ı˛Ì ø‰¬ÀS¬ı˛ ˜±Ò…À˜ ¤ ◊̋√√¬ı˛fl¡˜ ¬Û±fl¡¶ö˘œ¬ı˛ ˜ÀÒ… ø√À˚̨ 
¬Û±ø‰¬Ó¬ ‡±À√…¬ı˛ ·øÓ¬¬ÛÔ øÚÀ«√̇  fl¡èÚº 4 + 2    

 [Â√¬¬] fl¡…±À˘±øÈ¬À¸¬ı˛ ˜øô¶À©®¬ı˛ ·Í¬Ú ø‰¬S¸˝√√ ¸—Àé¬À¬Û ø¬ı¬ı‘Ó¬ 
fl¡èÚº 2 + 4 

 [Ê√] Î¬◊»¬ÛøM√√·Ó¬ˆ¬±À¬ı Œ|Ìœ ˜…±À˜ø˘˚˛±˚˛ fl¡Ó¬õ∂fl¡±¬ı˛ √±“Ó¬ 
Œ√‡± ˚±˚˛ ∑ Î¬◊√± √̋√¬ı˛Ì¸˝√√ ø¬ıÀù≠ ∏̄Ì fl¡èÚº 3 + 3  

( English Version ) 

1. Answer two questions  : 20 × 2 = 40 

 (a) What is conjugation ? Describe the 

process of conjugation in Paramoecium. 

Mention the primary excretory organ in 

Cockroach and discuss its structure 

and functional mechanism. Distinguish 

between Pterygota and Apterygota with 

examples. 2 + 5 + ( 1 + 4 + 4 ) + 4  

 (b) Write down the four distinctive 

characters of class Calcarea. Describe 

the general organisation of Scypha with 

diagram. Discuss the different types of 

longitudinal blood vessels in 

earthworm. Draw and describe the 

male reproductive organ in Cockroach. 

Mention three salient features of class 

Hirudinea with examples. 

    4 + 4 + 4 + ( 2 + 3 ) + 3 
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 (c) Mention the habitat of Balanoglossus 

and describe the structure of pharynx 
in this animal with proper diagram. 
Describe the internal structure of toad's 
heart and discuss the mechanism of 
blood circulation through it. Classify 
class Reptilia up to living orders with at 
least two characteristic features and 
examples. ( 2 + 4 ) + ( 4 + 4 ) + 6   

 (d) Distinguish between commensalism 

and mutualism. Describe the life cycle 

stages of Plasmodium vivax in its 

human host. How does the relapse of 

malaria occur in human by this 

parasite ? What is meant by active 

immunization. Discuss the different 

types of vaccines used in active 

immunization. 4 + 6 + 3 + 3 + 4   

2. Answer three questions  : 12 × 3 = 36 

 (a) Write the distinguishing features of 

subclass Archaeornithes and subclass 

Neorhithes with examples. Draw and 

describe the structure of a typical 

feather in Pigeon. Mention the different 

types of feather in Pigeon according to 

their location. 4 + 6 + 2 

 (b) Write four distinctive characters of 

subphylum Cephalochordata. Discuss 

the mechanism of feeding and digestion 

in Amphioxus. Elaborate the process of 

respiration with the help of swim 

bladder in fishes. 4 + 5 + 3  

 (c) Define antigen and antibody. Describe 

the structure of an immunoglobulin 

molecule with diagram. Classify 

immunoglobulin molecule present in 

human body and give a brief discussion 

on their properties. 3 + 5 + ( 2 + 2 )  

 (d) Elaborate the different parts of water 

vascular system in Asterias sp. State its 

significance. Describe the different 

types of larval forms in Echinodermata 

with a diagrammatic presentation.  

    5 + 3 + 4  

 (e) Describe the tracheal respiratory 

mechanism in Periplaneta sp. What is 

clitellum ? Mention the different organs 

and glands in both male and female 

reproductive system in Earthworm. 

    5 + 2 + 5    
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 (f) What is 'Ground itch' disease ? Discuss 
the habitat and morphology of the 
causative organism. How migration of 
filariform larva occur in human body ? 
Mention some control measures for this 
disease. 2 + 5 + 3 + 2 

3. Answer four questions  : 6 × 4 = 24 
 (a) Discuss the metamorphosis of Tornaria 

larva and its structural organisation. 
    3 + 3 
 (b) Describe the structure of Malpighian 

tubules of an insect with illustration. 
Mention their functions. 4 + 2  

 (c) What is 'Liver rot' disease ? Draw and 
describe the cercaria larval phase. 2 + 4 

 (d) What is opsonization ? What do you 
mean by antibody avidity ? 3 + 3 

 (e) Draw and describe the structure of 
heart of Dipnoi fishes. 2 + 4 

 (f) Describe the structure of a typical 
ruminant stomach.  Draw the simplified 
diagram to show the route of digested 
food matter in this stomach. 4 + 2 

 (g) Draw the brain of Calotes with a brief 
discussion. 2 + 4 

 (h) How many types of teeth are found in 
mammals according to their origin ? 
Discuss with examples. 3 + 3   

    


